1:]-% T A =
s ;r =4 ti 3] m 273 Etl
stolat, 1=0] 12 Hdz%gz} e
2 A
Pl ESETE
&ol= Al s,
o] Ad
e

24GVI =(2)
o @ )
26°1% SREL ;
27°1% - i
280]% - 28U]"J !
;N 29“1“& b
o|-7.1| 5
25




o2 2= sFetn Y EQ] 8 AHS Ao Jiz=z
A drot&E =71 gtk 904 o4
] Uﬂ, 404 o)A 504 D]HW A&

) J
0.4 A
0.3 Hin
0.1
{ RN
071750 170 190 1(4)







100m g2]7] 7125 et E5Bxgoltt, p =3 o,

Az 2 Ao AFghS Fstofzt
15 (2) =4(9)
10 ~ 157" 2
157~ 20" a
2001% 25“]‘?} 5
2577 ~ 30 b
3077 ~ 357 1
g2 20
z



g adEE sEeta SMISe] 48 g Arse] Jdng
tehd 102 1 97t oA ol 47} giek. 907 o4 100
4 winke] spg vt 23w, AH) 8 45 Fstolet,

/

0.4 A
0.3  Hr
0.2 L(.// ~No
0.1
{ N
071750 170 190 T(4)

I
(@)
(o)
(&)
®Q
(&)
—
o
S



